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Halloween Multiplication

Solve the following word problems.

A halloween candy costs $0.7. If you want to buy
10 candies, how much would it cost?

A halloween costume costs $34.55. If you want to
buy costumes for 10 people, how much would it
cost?

A halloween pumpkin weighs 1.5 pounds. If you
want to buy 10 such pumpkins, how much would
they weigh?

A halloween decoration costs $0.25. If you want to
buy 10 such decorations, how much would it cost?

A halloween mask costs $1.25. If a shop sells 1000
masks, how much would they earn?

A halloween party ticket costs $2.99. If you want to
buy tickets for 10 friends, how much would it cost?

A halloween lantern costs $1.7. If a store sells 100
lanterns, how much would they earn?

A halloween cake costs $15.99 .If you want to buy
cakes for 10 parties, how much would it cost?

9 A halloween candy bag weighs 0.89 pounds. A
factory produces 1000 such bags for a shipment.
4 ) How much does the shipment weigh?
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